## WEST BENGAL MEDICAL SERVICES CORPORATION LTD (Wholly Owned by the Government of West Bengal) CIN:U85110WB2008GC126373 2008-09 Regd. Off. Swasthya Sathi, GN-29, Sector-V, Salt Lake Phone: 033 40340300 Fax: 033 40340400 email id: info@wbmsc.gov.in

<u>Name of work:</u> Repairing and servicing of Existing Fire detection panel with programme the fire detector & other accessory, Supply & Delivery of Fire Fighting Materials and Supply & Laying of FPS panel incoming Cable at Sagardighi Super Speciality Hospital, Murshidabad.

# NOTICE INVITING TENDER

## Memo No: WBMSCL/NIT- 449/2021 Dated –29 /12/2021

Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi, GN-29, Sector-V, Kolkata- 700091, invites sealed bids from eligible contractors with experience of similar nature of work for the work.

Repairing and servicing of Existing Fire detection panel with programme the fire detector & other accessory, Supply & Delivery of Fire Fighting Materials and Supply & Laying of FPS panel incoming Cable at Sagardighi Super Speciality Hospital, Murshidabad.

The details may be available at Notice Board of WBMSCL & website www.wbmsc.gov.in and to be submitted (offline) on or before 2:00 P.M. on 6/01/2021.

No of Site	1 no.					
Estimated amount	Rs. 4,42,638.00					
Bid Security/EMD	The bidder has to deposit earnest money Rs. 8,853.00 (In the form of DD from a scheduled bank drawn in favour of "West Bengal Medical Services Corporation Ltd" payable at Kolkata).					
Security Deposit	3% of the contract amount to be deducted from the Bill.					
Releasing of Security Deposit	One year from the date of completion of work					
Tender Publication Date	31/01/2021					
Last date of Submission of Tender	6/01/2021 Up to 2:00 PM					
Date of Opening of Tender Document	6/01/2021 Up to 3:00 PM					
Validity of tender	120 days from the date of submission of Tender					
Time allowed for completion of Work	15 days					
Eligibility of participating bidder	The prospective bidders shall have satisfactorily completed AS A SOLE FIRM (NOT as a sub-contractor) during the last 5 (five) years prior to the date of issue of this NIT at least one work of similar nature under the authority of State/Central Gov., State/Central Gov. undertaking, Statutory/Autonomous Bodies under the statute of the Central/State Government and having a magnitude more than 40% of the Estimated amount put to tender for intended job.					

Bid opening Venue	West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29 , Sector – V, Salt Lake, Kolkata
	- 700091.

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time.

Bidders are instructed to submit their bid consisting of two sealed envelope called "Qualifying Bid" &" Financial Bid" in the tender box of WBMSCL by hand. Bid will not be taken by postal system/courier.

**Documents comprising the bid:** (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

### The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. GST registration no.
- c. IT Return for the assessment year 2020-21.
- d. Experience in similar field.
- e. Current Trade License.
- f. Current Professional Tax Receipt Challan.
- E. Duly signed NIT & Printed Tender Form.

### The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate must be given in the B.O.Q. (Annexure A) for work provided below, on the letter head of the intending bidder. Rate is inclusive of all taxes, charges in respect of all the sites/location. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled).

Comparison of financial bid will be based on total amount quoted by the bidder for each work separately.

The intending bidder(s) required to quote the rate (percentage above/below/at par) over the total estimated cost put to tender considering that no escalation/price adjustment will be allowed by the department under any circumstances.

A bidder shall have to furnish signed "Financial Bid" on their letter head. The financial bid of only of those bidders will be opened who meet all the requirements of the technical bid.

Failing to fulfil the requirements and eligibility criteria set in the bid document will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

Sd/-Managing Director BOQ for repairing and servicing of Existing Fire detection panel with programme the fire detector & other accessory, Supply & Delivery of Fire Fighting Materials and Supply & Laying of FPS panel incoming Cable at Sagardighi Super Speciality Hospital, Murshidabad.

WBMSCL/NIT-449/2021, Dated: 29/12/2021							
Sl no.	Description of Item	Unit	Qty	Rate including GST and other Charges (Rs.)	Amount including GST and other Charges (Rs.)		
1	Providing, fixing, testing & commissioning of 15mm dia quartzoid bulb type sprinklers of rating 68 degree centigrade with required accessories :						
а	Pendent Sprinkler	Each	5	484.00	2,420.00		
b	Upright Sprinkler	Each	5	484.00	2,420.00		
С	Horizontal side wall sprinkler	Each	5	579.00	2,895.00		
2	Supplying and fixing 63 mm dia, 15 m long RRL hose pipe with 63 mm dia male and female couplings duly bound with GI wire, rivets etc. conforming to IS 636 (type-A) as required : Stainless Steel (Grade 304).	Set	8	4434.00	35,472.00		
3	Supplying & fixing 63 mm dia gun metal short branch pipe with 20 mm nominal internal diameter size nozzle conforming to IS 903 suitable for instantaneous connection to interconnect hose pipe coupling as required : Stainless Steel (Grade 304).	Set	6	1648.00	9,888.00		
4	Supplying and fixing first-aid Hose Reel with MS construction spray painted in post office red, conforming to IS 884 complete with the following as required. 20 mm nominal internal dia water hose thermoplastic (Textile reinforced) type -2 as per IS: 12585 20 mm nominal internal dia gun metal globe valve & nozzle. Drum and brackets for fixing the equipmets on wall. Connections from riser with 25 mm dia stop gun metal valve & M.S. Pipe and socket. 30 m.	Set	4	8413.00	33,652.00		
5	Supplying and fixing single headed internal hydrant valve with instantaneous Gunmetal/Stainless Steel coupling of 63 mm dia with cast iron wheel ISI marked conforming to IS 5290 (Type -A) with blank Gunmetal/ Stainless Steel cap and chain as required : Single headed Stainless steel.	Set	4	5987.00	23,948.00		
6	Supplying, installation, testing & commissioning of intelligent addressable thermal detector with rate of rise cum fixed temperature thermistor complete with base as required.	Each	40	2713.00	108,520.00		
7	Supplying, installation, testing & commissioning of intelligent addressable programmable sounder complete as required.	Each	5	2638.00	13,190.00		
8	Supplying, installation, testing & commissioning of addressable manual call point complete as required.	Each	5	3859.00	19,295.00		

SI no.	Description of Item	Unit	Qty	Rate including GST and other Charges (Rs.)	Amount including GST and other Charges (Rs.)
9	Supplying, installation, testing & commissioning of addressable fire control module complete as required.	Each	8	2990.00	23,920.00
10	Supplying, installation, testing & commissioning response indicator on surface/recess MS box having two LEDs metallic cover complete with all connections etc. as required.	Each	15	184.00	2,760.00
11	Supplying & laying of 2x1.5 sq mm fire alarm armoured cable, 600/1000V rated with annealed copper conductor having XLPE insulation, steel wire armouring & FRLS outer sheath complete as required.	Metre	50	141.00	7,050.00
12	Supply of following 1.1 KV Grade XLPE insulated, core laid up, thermoplastic tape inner sheathed and extruded PVC type ST2 outer sheathed, armoured AL. conductor cable as per IS 7098 (Part - I) 2011 with up to date amendments. Make: Havells/Gloster/ Polycab/ KEI/ RR Kabel/ Bonton.				
	4.0 Core x 120 sq.mm ( Armoured ).	RM	120	1101.62	132,194.84
13	Laying of one No. cable above 35 sq mm and up to 185 sq mm in underground trench 460mm wide x 760mm average depth, with brick protection on the top of the cable with 8 (eight) Nos. bricks per Mtr. including filling the space between the bricks and cable and also the trench with shifted soil, leveling up and restoring surface duly rammed	RM	120	194.57	23,347.97
14	Supplying and fixing compression type gland complete with brass gland, brass ring & rubber ring for dust & moisture-proof entry of XLPE/PVC armoured cables as below				
15	For 4 core up to 150 sqmm Finishing the end of following XLPE/PVC armoured cables by crimping method incl. supplying and fixing solder less socket (Dowels make), tapes, anticorrosive paste & jointing materials	Each	2	401.57	803.14
	3.5 core 120 sqmm cable	Set	2	430.99	861.97
Total amount including GST and other Charges					
Quoted Percentage of rate (Excess + ) Quoted Percentage of rate (Less - )					
Ouot	ed Rate in figure:	Quoted P	ercenta	ge of rate (Less - )	
-	_				